SN ABoor)
a: T AMSE FE(2A/ABAGH)
el AE 38 -rlé cl2at
VR LRt (sml) TEVERIE 0 de e
R 5,442,771 6,352,590 A909,819
= 2,576,764
N 18,715
=S 2,847,292
ST MBS FE(2A/AS2A0HH) 4,626,209 5,622,564 £996,355
= 2,150,764
X 18,715
=S 2,456,730
AE - 3T daTS 4,626,209 5,622,564 £.996,355
= 2,150,764
vy 18,715
& 2,456,730
REASE & AL 22 1,571,000 2,615,000 21,044,000
202 OfHl 11,000 11,000 0
01 =LHOIHI 11,000 11,000 0
O4E % SSYYL 22| =& 11,000
308 XM SOIA 1,560,000 2,604,000 41,044,000
01 AXEHMBLYEXS 1,560,000 2,604,000 21,044,000
O84 - =udA SFHH X 1,560,000
SUHSSAYAANA 85 23 23,000 23,000 0
301 etE M= 23,000 23,000 0
HIeEas 23,000 23,000 0
OZANES dHl2d 23,000
SEALANEA =EEY 13,000 13,000 0
307 212t01 A 13,000 13,000 0
2 SIFBAANYPEE 13,000 13,000 0
onslslia X 13,000
oglolSA22XN2HH £X 28(=1) 2,800,000 2,730,000 70,000
= 2,000,000
== 800,000
308 XXM SOIH 2,800,000 2,730,000 70,000
= 2,000,000
=S 800,000
01 AXESNBLEZES 2,800,000 2,730,000 70,000
Ooelis a2 X3 EEH 29 2,800,000
= 2,000,000
S 800,000
OglollIsAlg dgaeld 249(20) 60,500 60,500 0
= 60,500
308 XXM SOIH 60,500 60,500 0
= 60,500
01 HXESHHBLEES 60,500 60,500 0
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S MBI
Hu: HF 9y

| SIMEE ME(2A/ABYLOHH)
el A8 - 33 Ad22BE ( =EE D
BN -ES. e ( mu) ldl-.—A}% aga L mes e oS 2

CREEEER ~ 60,500
’ = 60,500

stEtts 2 XXM a2 XN|(212)(2Y) 50,690 65, 154 A14,464
= 25,345
& 25,345

201 et | 2,694 2,694 0
= 1,347
= 1,347

02 2zl 2,604 2,694 0
OADIE AEIEBE SHY SHRS 2,694
= 1,847
< 1,347

202 01 b 38,99 49,620 £10,624
2 19,498
= 19,498

01 2Lholt| 38,996 49,620 £10,624
oBs(sg)0s 29 38,996
= 19,498
< 19,498

206 TH 24l 9,000 12,840 £3,840
2 4,500
= 4,500

01 HZH| 9,000 12,840 A3,840
O+NBA BT 9,000
= 4,500
= 4,500

sBsps U XM M2 XV (2D) 29,479 30, 152 £673
2 29,479

308 X XI A S O & 29,479 30, 152 £673
3 29,479

0 RXISHBNSES 29,479 30,152 £673
OADIE AEBOIEBE SHY SHRS 17,279
2 17,279
OAILIOl 2AR BEH| 12,200
2 12,200

SENYHEI|D OIBAS 48 ZH (D) 18,715 14,678 3,837
X 18,715

201 B2 11,032 9,095 1,937
X 11,082

01 A2yl 11,082 9,095 1,987
osies axpl £ 1,082
X 11,082

202 0 bl 1,360 90 400
x 1,360
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S ABolot)
Zu: Mz

aﬂzag-gg%g&amﬂ (Ete:@e)
: ERRRE "1
B HBE2
_L :

960 400
X 1,200
OYA%E S +H ot 160
X 160

206 T 2l 6,323 4,823 1,500
X 6,323

01 MEH| 6,323 4,823 1,500
OAIE X =HHI 4,500
Xl 4,500
OYStE S M+ 1,823
Xl 1,823

gScs S AEZ2 L8H($Hl, ZAH(2D) 19,680 19,680 0
=2 9,840
=3 9,840

202 014 930 930 0
2 465
< 465

01 =LHOIHI 930 930 0
OAYIISAE 2+ 930
=2 465
< 465

206 T 24l 18,750 18,750 0
=2 9,375
< 9,375

01 H=Z=dl 18,750 18,750 0
OAAIISAIE HH 2| 18,750
=2 9,375
< 9,375

HACCP QIEXI R (AL EHIZ)(23D) 25,600 51,200 225,600
= 25,600

308 XM SOIA 25,600 51,200 25,600
= 25,600

01 IXISMB&EE 25,600 51,200 225,600
OHACCP QIS XIR (A& EHIB) 25,600
= 25,600

BESKHSYL ASS oY 22 14,545 0 14,545

202 014 14,545 0 14,545

01 2401 14,545 0 14,545
OSHLEN(YATSEHAHA2L) ot 14,545

+2NE4 AZHH PS(2A/2AYR) 750,000 667,000 83,000
= 426,000
3 324,000

olorAA OHEBE 750,000 667,000 83,000
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= A

D ABolot)

HH: 2NE4 AZHA AE(2A/2HYT)

=

Dok etEEe|

SA-EY .9 (3) - NSAE - BaS

. o &0_‘" . . i

5,000

; 324,000
ojergiA Xxzel 13,000 13,000 0
202 0iHl 13,000 13,000 0
01 2WAYI 13,000 13,000 0
oA e 13,000
FSYAS 22 3,000 3,000 0
206 M =8l 3,000 3,000 0
01 =4l 3,000 3,000 0
0%=, &S & AMPL 3,000
OtF 0l 2el 12,000 12,000 0
307 g12+0l ™ 12,000 12,000 0
02 QIZHBMARIE R 12,000 12,000 0
OAYE ZRLSI| BH 12,000
SIAHTHFSXRAAE(BTLAIY) 22 X (=21) 639,000 639,000 0
= 426,000
&< 213,000
308 A+ XIEtM S0l ™ 639,000 639,000 0
= 426,000
[ 213,000
0Ol IXEHMBLEEEZS 639,000 639,000 0
O REXNE AL XN 639,000
= 426,000
= 213,000
HZIIER 22 Mg =2 63,000 0 63,000
403 Tt XIS HMSA20( A 63,000 0 63,000
01 HXISHHMA2EXR 63,000 0 63,000
OXRIIE JMZRIY B2 63,000
SHOIME R 2g N3 20,000 0 20,000
307 212t0l ™ 20,000 0 20,000
02 QIBMANHER 20,000 0 20,000
OCHOtAt S22 3 WA X3 20,000
B PAAH| (Al S 2k1)(DIEH/IIE) 66,562 63,026 3,536
=]l 36, 121 33,801 2,320
AlZAM 2OIHIXA QIAH| 36, 121 33,801 2,320
101 2124 H] 36, 121 33,801 2,320
03 RIAHA2ZRES 36, 121 33,801 2,320
oJIz2(88s8) 2,054,213« 128 24,660
odz2+g 2,054,9213 #25%+28] 1,028
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= oot
“EF oI 20| (Al Z 2| 2t TH) (DIEHIIEH)
ol oyl SRR D)
M- B3 S91(E) - NRAY - BES i H@s™
T ONZSIZSAT 10,8409~ 150%+20Al 2+ 128 3,903 —
odxgIEINAEY 86,7202 *172 1,475
CEEESIT 2,054,921 2 x50%+23] 2,055
CER 130,0008 122 1,560
ORnEH| 80,0008 +128 90
oNELY 20,0002 x2% * 128 480
30,441 29,205 1,216
2o =AY 30,441 29,205 1,216
ysr2 oy 18,441 18,425 16
01 Al 22l 18,441 18,425 16
ORAS2Y A2l 18,441
202 04| 9,000 7,800 1,200
BT 9,000 7,800 1,200
oRA2Y 20| 9,000
e 3,000 3,000 0
SN Ye =AY 3,000 3,000 0
o159 0/5 250,000 * 122 3,000
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